NA DA	ME:Binu Balachandran TE:02.09.2024				KOHLER.	
	12.02.07.2024	Revised Quote				
	PRODUCT NAME	SKU CODE	PHOTOGRAPH	QTY	MRP	MRP TOTAL
1	LADENA® 581X402 MM UC LAVATORY	2215IN-2-0		6	9,500	57,000
2	PATIO TOUCHLESS URINAL, WATERSAVING	16321IN-SS-0	6	5	58,500	2,92,500
3	BRAZN®-ROUND WH TOILET W/SEAT	26994IN-0		6	28,000	1,68,000
4	SUMMON SENSOR FP DC , MANUAL OVERRIDE	24146IN-7	0 °	6	31,280	1,87,680
5	INSTAFIT+® NXT GEN - PNEU IN WALL TANK	26353IN-P-NA	Ö	6	12,600	75,600
	DRAIN CONNECTOR ASSEMBLY	1355356	Ci.	6	2,269	13,614
	COMPACT OUTLET CONNECTOR ASSEMBLY	1527926	100	6	337	2,022
6	AVID® Covered TP Holder(left side)	97503T-CP		6	9,800	58,800
8	LUXE HEALTH FAUCET WITH HOSE & BRACKET	77364IN-CP		6	4,840	29,040
8	AVID® DOUBLE ROBE HOOK	97500T-CP		7	6,400	44,800
10	BEAM® ANGLE VALVE	25431IN-4-CP		6	1,500	9,000
11	BOTTLE TRAP 350MM	75823IN-CP		6	2,900	17,400

11	BOTTLE TRAP 350MM	75823IN-CP		6	2,900	17,400
13	SPAN SQ WM LAVATORY 545X489	25317IN-0		1	6,600	6,600
14	BRAZN®-ROUND WH TOILET W/SEAT	26994IN-0		1	28,000	28,000
15	SUMMON SENSOR FP DC , MANUAL OVERRIDE	24146IN-7	0 °	1	31,280	31,280
5	INSTAFIT+® NXT GEN - PNEU IN WALL TANK	26353IN-P-NA		1	12,600	12,600
	DRAIN CONNECTOR ASSEMBLY	1355356		1	2,269	2,269
	COMPACT OUTLET CONNECTOR ASSEMBLY	1527926	100	1	337	337
17	AVID® Covered TP Holder(left side)	97503T-CP		1	9,800	9,800
18	LUXE HEALTH FAUCET WITH HOSE & BRACKET	77364IN-CP	~ _q	1	4,840	4,840
	BEAM® ANGLE VALVE	25431IN-4-CP		1	1,500	1,500
	BOTTLE TRAP 350MM	75823IN-CP		1	2,900	2,900
	BOTTLE TRAP 350MM	75823IN-CP		1	2,900	2,900
	CRUZ BATH ENTRY GRIP	10701D-CP	5	1	7,760	7,760
	LADENA® 581X402 MM UC LAVATORY	2215IN-2-0		2	9,500	19,000
	BRAZN®-ROUND WH TOILET W/SEAT	26994IN-0		2	28,000	56,000

SUMMON SENSOR FP DC , MANUAL OVERRIDE	24146IN-7	0 .	2	31,280	62,560
INSTAFIT+® NXT GEN - PNEU IN WALL TANK	26353IN-P-NA		2	12,600	25,200
DRAIN CONNECTOR ASSEMBLY	1355356	Ci.	2	2,269	4,538
COMPACT OUTLET CONNECTOR ASSEMBLY	1527926		2	337	674
AVID® Covered TP Holder(left side)	97503T-CP		2	9,800	19,600
LUXE HEALTH FAUCET WITH HOSE & BRACKET	77364IN-CP	Ī	2	4,840	9,680
AVID® DOUBLE ROBE HOOK	97500T-CP		2	6,400	12,800
BEAM® ANGLE VALVE	25431IN-4-CP		2	1,500	3,000
BOTTLE TRAP 350MM	75823IN-CP		2	2,900	5,800
BOTTLE TRAP 350MM	75823IN-CP		2	2,900	5,800
VEIL™ PEDESTAL LAVATORY	20701-0		1	1,15,000	1,15,000
CLICK DRAIN, BIG CAP	7120IN-CP	Ť	1	3,900	3,900
BRAZN®-ROUND WH TOILET W/SEAT	26994IN-0		1	28,000	28,000
SUMMON SENSOR FP DC , MANUAL OVERRIDE	24146IN-7	0 °	1	31,280	31,280

5 INSTAFIT+® NXT GEN - PNEU IN WALL TANK	26353IN-P-NA	•	1	12,600	12,600
DRAIN CONNECTOR ASSEMBLY	1355356	CI.	1	2,269	2,269
COMPACT OUTLET CONNECTOR ASSEMBLY	1527926	and the	1	337	337
AVID® Covered TP Holder(left side)	97503T-CP		1	9,800	9,800
LUXE HEALTH FAUCET WITH HOSE & BRACKET	77364IN-CP		1	4,840	4,840
AVID® DOUBLE ROBE HOOK	97500T-CP		1	6,400	6,400
BEAM® ANGLE VALVE	25431IN-4-CP	2	1	1,500	1,500
BOTTLE TRAP 350MM	75823IN-CP		1	2,900	2,900
		TOTAL			15,27,120
		OFFER PRICE			10,94,000

Terms and Conditions

- 1. Above Prices are inclusive of GST.
- 2. Prices are valid for 15 days from the date of the quotation.
- 3. Transportation, Unloading & Lifting Charges additional as per actual.
- 4. Any damage material have to reported within 3 days of the material delivery.
- 5. Payment Terms 100 % advance against the PO.6. Once the purchase order released, any changes or modifications cannot be accepted.
- 7. Unloading of material at the site is buyer's scope and not our responsibility.
- 8. In case of any complaint, the matter should be taken up with the manufacturer directly.
- 9. For additional products the customer has to pay as per the present price.

TRANSPORTATION NOT INCLUDED